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2. On the Internet, networks are connected by devices called ('A) modem (B) router (C) repeater (D)
bridge ° |

3. TCP/IP protocol suite F &4 IP & #f & 2] [SO OSI model + &5 F — /& 7 (A) data link layer (B) network
layer (C) transport layer (D) Internet Layer « _
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5. The process of loading the operating system into memory is called (A) booting or bootstrapping (B)
starting up (C) prompting (D) interleaving. '
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File Server °
The graphical interface software that can be used to access the Internet from the user's computer is
called a(n) (A) Java applet (B) browser (C) extranet (D) hyperlink.
A file that is a record of your activity on the Internet is catled a (A) phishing (B) hacker (C) cracker (D)
cookie.
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What is the first phase of the TCP/IP three-way handshake sequence? (A) SYN packet (B) SYN/ACK
packet (C) ACK packet (D) NACK packet.
How many bytes are used in an IPv6 address? (A) 4 (B) 8 (C) 16 (D) 32 »
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